novotechnik

Siedle Group

NOVOHALL
AEERaE
JEEARIURY
RFC-4800

CAN SAE J1939
B TEFRRA

2 @)

B

« FEME/RRIERA

- BST{FE7E360°

« WO ERN , BITEES

- B5IP<ELR 1P67, IP68, IP69

« DR 14 (U

* FTHEEIR

« T/ERESEE -40 °C to +105 °C

« BRE , SRS

* IFEEEREKFEMCERAIBHNEBNA, HANISO FKifiR
ELARISO11452 FHiRESEES TEL iR,
« Eftt S ER SR AR

RzF3
« B TAEEEW (TALA-RZE, BRI, ARULATUR FOFRLAAR)
 EFIRE

P MNMEREID RIS ZIRZEIFRERIE. BT ERTHARM , fELRATHE., RRNREERFZERS.
R RIS
WEBEZFEREIFKHM AT,
ERBREETHN , AAFEESGTSIMESRM TNA.

588

R HNFS: BERTLRER

T BH#M4x20 FAZ124408 (7ERER )

AR AR 250 Ncm

BSiEE 2x 2x 0.34 mm?2 B34 (AWG 22), TPE , TRk / M12x13Esk , AR | JER4R | +K0.15 K / 4x 2x 0.25 mm?2 E34f (AWG 24), TPE , T5#
NikS#

RY BIRIE

T2 TSR

HE ( FkaT) #4509



1TNaFRtEIEAR

INEF AR, TUESEEE:

« iTMadER/ 250, ZHRFI01NIER
« FURERBRANZE
IEEAAE R R EER AR INZE,

R FC - 4 8 5 2
75 HURARS
4851 IMEFL =S
4852: BIFLER
R EIEHIE

o 2x M4x20 jE=1222115

b=
N

=
14: 14 bits

&0
2: HFEN

novotechnik

Siedle Group

I TRaFRtE 5 EE

#0
J: CAN SAE J1939

EOsy

=ik

1: 1 (8, 1% RE, 1x B

SoIxUE, 1OEE, 1x B HRRRRER120 Q
priiziah o

2: 2x (U, 2x HiE

3:2x {ul, 1xHE
6: 2x (U, 2% IBE HRLMIRIRTT120 Q
7: 2x {iE, 1x B Rk EimiEi120 Q

=
3: 500 kBaud
4: 250 kBaud

BSEE

231: EB4R, 411, B, L = 0.5 %

232: B34, 475, AR L = 13K

236: B4y, 4-%5, B, L = 33K

240: BRI, 415, B, L = 53K

432: B84, 8-, AR, L = 13 (CAN infout)*
511: M12x13&k, 5-5t, THE4%, B, L = 0.15 3K
SRR LR R ERETT LATE

*) {(UEATF A SRR 12000

1 4 - 2 38 2



Arbeitsbereich Positionsgeber
operating range position marker
Z-RFC-P__
D 47,6 02 ~
+
< / NI 2
o [[@h—i——
~0
~ 3
D 48 102 o~
Typenschild /
label
'Y >
9, D b4 <01
2
go" 5
~
]
N
-
o
o SRR FARCIREIR
r B, WS iE A

(HEENIE).

novotechnik

Siedle Group

HlEl

CAD &#}&3% www.novotechnik.de/
ch/download/cad-data/



novotechnik

Siedle Group

BAEH

BEEW RFC-48_ _-214-)_ - __
CAN SAE J1939
MEIFHR UH, EE B
THRTRE 360°
EATIREE 0...750 rpm
E5BEHE 1/2
MHES / il CAN SAE J1939
ARSI UBEEE. eienn, FOE. RSE. s, RER. Sttt MEDYER. EEDYEE
2l BE (ERHESBHAEESTEEBRT )
RitbiE 128 ... 247 ( shaSHEIbEK )
R 250, 500 kBaud
Gl 1 kHz
RIS R 14 fi
RSP (LSB) 0.055%/s ... 2.2°/s
ST < 0.5 %FS
AIESY < +0.1°
wE < 0.1°
BEIRE +0.2 %FS
T{EEEUb 12/24 VDC (8 ... 34 VDC)
BRI < 50 mA
FoERAIIAE <04W
HERR 45 VDC (5kA)
PRI P B (BiRk)
Sl B ( FrEHHXIGNDAIR TIEEE , FA40VDC)
#E5FEH1(500 VDC) > 10 MQ
MEBuSLLIR 120 Q (mN%)
WIREH
BATIEEE TR S
iRzE R IEC 60068-2-6 20 g, 5 ... 2000 Hz, Amax = 0.75 mm
fudhEETEtR IEC 60068-2-27 509, 6 ms

FH3RS4% DIN EN 60529

IP67 / 1P68 / IP69, IP67 (M12#£:k)

I{ERE -40 ... +105°C, -25 ... +85°C (M12#E3L)

S FIRHVS o

RERSMEK MRBAT = RATREERNRSG T | BERRERRA]

MTTF (IEC 60050) 843 & (BAEIE) or 819 & (WiEE, BiEiE)

FERRIEHA REFIIS | FFREFHRKE

RE/FEINIERE CE, UKCA see https://www.novotechnik.de/en/downloads/certificates/declarations-of-conformity-eu/uk
WEEE see https://www.novotechnik.de/en/downloads/certificates/eu-directive-weee/

#E EMC inf

ISO 10605 ESD  ( E&fA/4BM% ) 8 kv

ISO 11452-2 BSESTAEINAE 100 V/m

1SO 11452-4 BCI BARBFUENRA 200 mA

CISPR 25 {E53HEREE Level 3

ISO 7637-2 Transient Emissions Level 4

ISO 7637-2 EEiRE&RkatR

(1, 2a, 2b, 3a, 3b, 4, 5) Level 4

ISO 7637-3 EEiREmHELRKatRE

(3a, 3b) HRIKE2, 187KF4

HER/BHIFER

FHnESEESTEL il

FS= HETE . NNBESUERENESE

=i
i



novotechnik

Siedle Group

SHEEGE X

=8 Fa4% Bk Y

BS2 _ BS5_ _ BE4

T{EEEUb B EHi 2 B, 1

Bty =8 £ 3 IR, BE

CAN_H =) £ 4 B, HE

CAN_L FeE £t 5 FE, kG

CAN_SHLD =501 1 R

R A,

Pin assignment M12
5-pole, A-coded

=]



by

empfohlener Wellen-@
recommended shaft-&

@28
18 &
[~ ¥ 28 <
s I N . ]
|'|'| 'PITH
NN\ T a5 SO
ANANINZE R ®
I A | ~
| T T ’
Markierung @41 2
“N\marking 3600
empfohlener Wellen-&
recommended shaft-@&
@28
18
i
L S 28 =
| . ]
S|—|—|N 1 [l L
O ! e
ISR (i e
! pa1 | 2
Markierung S
\_marking _P6-000
empfohlener Wellen-&
recommended shaft-&
$28
18 ©| »8 [
/*\ ~ <
' | T
) |T| e\ T | ©
INEIINZE g "
! : :
Markierung @41 \g_’
\\_marking ?6.002
empfohlener Wellen-@
recommended shaft-&
P28
18
/‘i‘\ 3 o8
| i 5
S N 1 T L
NI PR .
R -
! o4t | '
. . %
Markierung
markin, ©6-002

novotechnik

Siedle Group

RIS HHR

Z-RFC-P02

B2 AMAX0IZIERIIRETE (HBREIAR
B) EH (RISHE) |

FRTEEBRHT FEERR,

[%15d PF

FFERARERD: 3 mm

TIERE -40 ... +125°C

FEERmS 8®2(M)

400005661 1
400056080 25

Z-RFC-P08
EMSIREUEEERR ( ZEHRES )
%154 PF
FFRAZREROE 3 mm
TERE -40 ... +125°C
FEmimha £(1)

400056070 1
400056084 25

Z-RFC-P41

B2 AMAOIZISRIIRERE (HBIIAR
B ) SEHE (RIEHE) |
FAfESERHE L BRI,

%154 PF

RVFRAREERD: 3 mm

IfERE -40 ... +125°C

FEmmhg ®£(M)
400105037 1
400105038 25

Z-RFC-P47
ER2NAR7SAMAX0IZIERIIRETE (HBAIAR
B ) SiMSHR5E ( RESHRES ) |

FRTEEERIE EEERIR.

L7154 PF

FeFERARERD: 3 mm

TIERE -40 ... +125°C

PR £(1M)

400105039 1
400105040 25



by

~
o —_ —— — —_—
s \N S
83
sl
—— gzt
55
g Marking
@ M4
18
12
~ |
o N PN B —
s \N S
1) H
Ep
c ©
— ges
55
g Marking
o M4

$3,25 (2x)

3,25 (2x)

novotechnik

Siedle Group

RIS HHR

Z-RFC-P23

BCMARREUEEERAR (R EIHREL )

R SR | ESRAPFM
%159 PA6-GF

RFRAEARLE 3 mm

IRRE -40 ... +125°C

FEmmRg ®2(M)

400056074 1
400056085 25

Z-RFC-P43

BEeMAMRLEEERIR ( REFREC )

R SRS | B RAFF
L7154 PA6-GF

FeFERARERLD: 3 mm

TIERE -40 ... +125°C

PR £(1)

400105041 1
400105042 25

Z-RFC-P30

B2 M 3xBIZL AR EIERER ( REHRES )
(%154 PBT-GF
RTFRARAERO £ 1.5 mm

TIERE -40 ... +125°C

PR £(1)

400056086 1
400056087 25

Z-RFC-P31
ER2 M 3XBIRIE AR EIERISR ( REHRES )
HE PBT-GF
FFRAZREROE 3 mm

TERE -40 ... +125°C
FEmimha £(1)

400056088 1
400056089 25



45

ANIRIZ
S/ mEE),
IAEyA

<
=

¢45

Markierung

marking

~ 0,2 Magnetschutz

protection of magnet

—
le_ o
= Markierung
marking
7 25 «1
(32)
~ 0.2 Magnetschutz
Protection of magnet
——
1 3
1 s
Markierung
S— .
7 ‘ 20 1 Marking
(27)
~ 0,2 Magnetschutz
protection of magnet
— PN
- =
\ / .
L = Markierung
58 25 .1 - marking
' - SW 13
(308)

novotechnik

Siedle Group

RIS HHR

Z-RFC-P22
EL2/ N7 FMAx20 I2RRRIIHERE ( THBHIAR
B, REHRED).

R E SR TFm.,

%153 PEIREILSE
FFRARERDE 4 mm

TERE -40 ... +125°C

FEERRS 8£((1)

400106735 1
400106736 25

Z-RFC-P18
IR (IEIRER ) M10 x 25 mm,
similar DIN 933

(%153 PEtREIEE
FFRAEERDE 3 mm
TERE -40 ... +125°C
= ERiREe £(1)

400104756 1
400104757 25

Z-RFC-P28
12BN ( NES#Ek ) M10x1 x 20 mm,
similar DIN 933

R FEtREMLIE
SFRAEAfRLE 3 mm
I{ERE -40 ... +125°C
PR £((1)

400108462 1
400108463 25

Z-RFC-P19

SRR ( REIHEEK ) M8 x 25 mm, similar
DIN 933/1SO 4017

%154 PEtREIER
SVFRARERER D 1.5 mm

TRRE -40 ... +125°C

PR £(M)

400104754 1
400104755 25



4/\
]ﬂ> i} el _If | "; _
=
“\J\Markierung
: marking
7 | 25 +1 SW16
(32)
§ 104 8101
. i
== 4 <} K +
N[S| ¥ |
5,5 10,1 14 20,1
=
0| N (s
I,
2
3 e o
& ¥

22,3
0,3x45°

0,3x45°

novotechnik

Siedle Group

RIS HHR

Z-RFC-P20

S2RRBEE M10 x 25 mm, similar DIN 933
7154 PEtREIEE
FVFERAREER D 3 mm

I{ERE -40 ... +125°C

PR £(N)

400104758 1
400104759 25

Z-RFC-P03
EHRERETEEEFNSEN L, SIFEINE
HE , AR TIE (530 , ShEREEs
HAMERYS |, TFRIBEEMER20% )
RIFRARERO+ 1.5 mm

TERE -40 ... +125°C

FEERmS ®£(1)

400005658 1
400056081 50

Z-RFC-P04
ERHRERTREEEFNSER L , SIS
HE , AR TR (HUa0 , hmREEs
REMERY E  TORRIEEZE/DERR20% )

RFRAERRDE 3 mm
I{ERE -40 ... +125°C
RS 8£(1)

400005659 1
400056082 50

Z-RFC-S01/502/S03
THIRLLER RS FATFEIRERSR Z-RFC-P02/P41

%154 TREEIN1.4305
PR BISEN @B / A [mm]

400056206 Z-RFC-S01  6/45
400056207 Z-RFC-S02  8/6.5
400056208 Z-RFC-S03 10/85



BURT(ERIIE[mm] -ERRRimLHE

novotechnik

Siedle Group

RIS AR

Z-RFC-P02 / P04 / P08 Z-RFC-P41 / P43 / P47 Z-RFC-P03 / P30 Z-RFC-P18 / P28 Z-RFC-P19 Z-RFC-P22
Z-RFC-P20 /P23 / P31
23..5 0..27 07..22 0..45 0..22 44 .92
BERTAERIEE[mm] -ToRISHE
Z-RFC-P02 / P04 / P08 Z-RFC-P41 / P43 / P47 Z-RFC-P03 / P30 Z-RFC-P18 / P28 Z-RFC-P19 Z-RFC-P22
Z-RFC-P20 / P23 / P31
19..45 0..23 03..18 0..4 0..17 4..88
HRERIRIRERS
AR RZ RS A

SMNUEMRE AEIRERR

FHERERFRER AR R e~

4, BMRIEAERRSEEM

Z:IE.]O
BRREBIERTIIMIEIHRE- S IRETHE
Z-RFC-P02 / P04 / P08 Z-RFC-P41 / P43 / P47 Z-RFC-P03 / P30 Z-RFC-P18 / P28 Z-RFC-P19 Z-RFC-P22
Z-RFC-P20 /P23 /P31
0.5 mm: £0.4° 0.5 mm: +0.4° 0.5 mm: £1.4° 0.5 mm: £0.7° 0.5 mm: +1.3° 1.0 mm: £0.8°
1.0 mm: £1.1° 1.0 mm: £1.1° 1.0 mm: £3.7° 1.0 mm: £1.3° 1.0 mm: £2.6° 2.0 mm: +1.8°
2.0 mm: £3.5° 2.0 mm: £3.5° 2.0 mm: - 2.0 mm: £3.3° 2.0 mm: - 4.0 mm: £5.4°
BRREBIERTIMIEIHRE-TTREHE
Z-RFC-P02 / P04 / P08 Z-RFC-P41 / P43 / P47 Z-RFC-P03 / P30 Z-RFC-P18 / P28 Z-RFC-P19 Z-RFC-P22
Z-RFC-P20 /P23 /P31
0.5 mm: £0.7° 0.5 mm: +0.7° 0.5 mm: £2.5° 0.5 mm: £1.1° 0.5 mm: £2.3° 1.0 mm: £1.1°
1.0 mm: £1.8° 1.0 mm: £1.8° 1.0 mm: £6.4° 1.0 mm: £2° 1.0 mm: £4.5° 2.0 mm: +2.4°
2.0 mm: £5,2° 2.0 mm: £5.2° 2.0 mm: - 2.0 mm: £4.6° 2.0 mm: - 4.0 mm: £6.7°



novotechnik

Siedle Group

BLE M12 R5EsL

4 EEM-33-52
e W S SEEML2XLMY/ETESL | AR, HBMERY ,
r M o %P (shield on knurl) , 1P67 , iR
[ © ©° & , CAN-Bus
2= B PUR

= BARE PUR, @ = 6.7 mm,

-25 ... +90°C (HESL/1HEERY)
-20 ... +80°C (FB4EY)

L
—
S'vy

) |[Tcan S PE, 2x0.25mm?2+2x0.34
IP67 || UL ((t‘))) Fm i
“6 ]
LJ
o1z,

=t ] BSEX KE
L—J"" 400106373 EEM-33-52 53

o145 ; . EEM-33-41/43
m2xl 5 o 1 = Schirm / shield SEtM12x1[VIEEEL |, ABY , HEeERL R
oy o 2=FD (0,34 mmf) W, IP67 , ZEi%iRE , CAN-Bus
o o 3 =BK (0,34 mm?) LS PUR
4 =WH (0,25 mm?) TU
el 5-BU (0,25 mm) s PUR @ = 7.2 mm,
-25 ... +85°C (EERTE)
2 BEESE PP, 2x0.25 mm?2+2x0.34
g mm?
R MEEN  KE
A7 ([ 200056141 EEM-33-41 2%
LJ 400056143  EEM-33-43 103
0145
020 3 4 EEM-33-73
" miext 59 SEMIAMERL , AR, BEEZEREH
] [¢) 753 | WHR#K , IP67 , CAN-Bus
\HHHHH\”””H ©.0 ELS Metal, -40 ... +85°C
¢ e 2 1 ERTSLENE 6.8 mm, £k 0.75 mm?
= 5 e
=
3 ERED BEEY

400005645 EEM-33-73

EEM-33-75

SEtMI12x1MEEEL |, AR, HERERRIZEM
$FEIS , AR , IP67 , CAN-Bus ; %z
BB D T2 90°

LN Metal, -40 ... +85°C
ERTFSLNE 6.8 mm, &K 0.75 mm?
=8

P RRE BISEN

400005646 EEM-33-75




novotechnik

Siedle Group

BLE M12 R5EsL

o EEM-33-45
AN TEUESL | S5tM12x1, AZ! , IP68
10 Buchseneinsatz M12 A 1%, M- Y - [M45H , CAN-bus
[ — SW 13 Female insert M12
po— = o BN PUR, 25 .. +85°C
Q —ir= & =t ] BSEX
= xSz N1 400056145  EEM-33-45
= 1x Buchseneinsatz M12 99
& QB & Txmale insert M12
= - Ix female insert M12
olff] 'z
=

129 B
404
-~ 8 [|fcan
0145 EEM-33-47
P 3 4 1=nc. 5 £HM12x1 FYE1200 £eepE , A B
m2x1 oenc RIRERME
= ©,° sono IP67 , CAN-bus
| o o 4- _ Widerstand/|  fgsighss PUR, -25 ... +85°C
_ :lresuatance EREE BEEY
2 1 5= 120 Q ki
- 5 400056147  EEM-33-47
=
<

i3

=
=
o

CAN
T

L RATFRTRRMERE (EMC) Oy
FHiPEELR 1P67 . et TFSRhsEERE. SR CAN X
P67 | b 60529 s ((l‘:)) FihaEn |mru1 CAN-bus
FhIFELR IP68 RIFRIFUES. S8, I3iEmE i NE
IP68 | 72 DIN EN 60529 f7 ) ﬁ‘i UL INE

m12



M12 connector

* Customized lengths

® 3-, 4-, 8- and 8-pole versions

* Protection class IP68

+ Ordering codes of standard versions
see ordering specifications

Tyco AMP Super Seal

* Pin- and bushing housing
= Customized lengths

* 3-, 4- and 6-pole versions
* Protection class IP67

* On request

Deutsch DTM 04

+ Pin- and bushing housing
* Customized lengths

® 3-, 4- and 6-pole versicns
* Protection class IP67

* On request

ITT Cannon Sure Seal connector
* Customized lengths

® 3-, 4- and 6-pole versions

* Protection class IP67

* On request

novotechnik

Siedle Group

ZHEEA R TiE

Molex Mini Fit jr.

* Customized length and lead wires
* 3-, 4- and 6-pole versions

* On request

Molex Mini Fit jr.

¢ Customized length and lead wires
® 3-, 4- and 6-pole versions

* On request



novotechnik

Siedle Group

EHERESRES (L8) BIR

AT

R SR TR
i | FrIRIAER5885 | 22
&, A0l =

fkYm : 201114

Phone +86 21 58997738
Fax +86 21 58997737
info@novotechnik.cn
www.novotechnik.cn

OF=H0]

[=
© 2023-11-8

HMNAREIT RSP SE, ESERRN TIFEMERM TG | XS HETRRELNISP TERHMARERENRMN. ErREX e EE A5
BIRATEEZ WRBEAINT R | BRI SRR N ERMEMNE P RASRERRFE—ENRRYE. Bt , REEFWREITTEANATIIEESE. HREMEATER MR
TEIREOR | RS ATIEAN.



